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QUESTION 1

Recently, your e-commerce web application has been receiving significantly more traffic than usual. Users are reporting
they often encounter a 503 Service Error when trying to access your site. Sometimes the site is very slow.

You check your instance pool configuration to confirm that the maximum number of instances is configured to allow 20
compute instances. Currently, 14 compute instances have been provisioned by the instance pool. You also confirm that
current CPU utilization across all hosts exceeds the scale-out threshold you set in your auto-scaling policy. However,
the instance pool is not provisioning any new instances.

What can you check to determine why the application is NOT functioning properly? (Choose the best answer.)

A. Verify that the new offer feature code did not introduce any performance bugs.

B. Verify that the database is accessible.

C. Verify that the compute resource quota has not been exceeded.

D. Verify that the Quality Assurance team is not currently performing load-testing against production.

Correct Answer: C

QUESTION 2

You have created the following JSON file to specify a lifecycle policy for one of your object storage buckets:
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=

“name®™: “Archive LOGS™,
“aection”: “ARCHIVE”,
“objectNameFilter”: {
"inclusionPrefixes™: [
"LOoGSs"™

|

“timeAmount™: 30,
“timeUnit™: "“DAYS"™,
“isEnabled”: true

R4

name”: “DELETE LOGES",

“action™: “DELETE",

“objectNameFilter”: {

“inclusicnPrefixes™: [
“LOoGS"™

[

|
“timeAmount®: 120,

“timeUnit™: “DAYS"™,
“igFnabled”: true

How will this policy affect the objects that are stored in the bucket? (Choose the best answer.)

A. Objects with the prefix “LOGS” will be retained for 120 days and then deleted permanently.

B. Objects containing the name prefix LOGS will be automatically migrated from standard Storage to Archive storage 30

days after the creation date. The object will be deleted 120 days after creation.

C. The objects with prefix “LOGS” will be deleted 30 days after creation date.

D. Objects containing the name prefix LOGS will be automatically migrated from standard Storage to Archive storage 30

days after the creation date. The object will be migrated back to standard Storage 120 days after creation.

Correct Answer: B

QUESTION 3
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A subscriber of an Oracle Cloud Infrastructure (OCI) Notifications service topic complained about not receiving
messages from the service.

Which option can help you debug this issue? (Choose the best answer.)

A. If OCI Notifications service does not receive an acknowledgement from a subscription endpoint, the service drops the
message. Confirm that the subscriber is always online to receive messages to help debug the issue.

B. If OCI Notifications service does not receive an acknowledgement from a subscription endpoint, check the
NumberOfNoatificationFailed metric through the OCI Monitoring service for failed messages. Copy these messages to an
OCI Object Storage bucket. Make sure the subscriber has the required credentials to access this bucket to help debug
the issue.

C. If OCI Notifications service does not receive an acknowledgement from a subscription endpoint, the service tries to
redeliver messages for up to one day. Make sure that the subscriber is online at least once a day to help debug the
issue.

D. If OCI Notifications service does not receive an acknowledgement from a subscription endpoint, the service tries to
redeliver messages for up to two hours. Configure an alarm on the NumberOfNotificationFailed metric through the OCI
Monitoring service to help debug the issue.

Correct Answer: D

QUESTION 4

You are using Oracle Cloud Infrastructure (OCI) services across several regions: us-phoenix-1, usashburn-1, uk-
london-1 and ap-tokyo-1. You have creates a separate administrator group for each region: PHX-Admins, ASH-Admins,
LHR-Admins and NRT-Admins, respectively.

You want to restrict admin access to a specific region. E.g., PHX-Admins should be able to manage all resources in the
us-phoenix-1 region only and not any other OCI regions.

What IAM policy syntax is required to restrict PHX-Admins to manage OCI resources in the us-phoenix-1 region only?
(Choose the best answer.)

A. Allow group PHX-Admins to manage all-resources in tenancy where request.region= ‘phx’

B. Allow group PHX-Admins to manage all-resources in tenancy where request.permission= ‘phx’
C. Allow group PHX-Admins to manage all-resources in tenancy where request.target= ‘phx’

D. Allow group PHX-Admins to manage all-resources in tenancy where request.location= ‘phx’

Correct Answer: A

QUESTION 5

You are working with Terraform on your laptop and have been tasked with spinning up multiple compute instances in
Oracle Cloud Infrastructure (OCI) for a project. In addition, you are also required to collect IP
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addresses of provisioned instances and write them to a file and save it in your laptop. Which specific Terraform
functionality can help accomplish this task? (Choose the best answer.)

A. Terraform modules

B. Terraform remote state
C. Terraform local-exec
D. Terraform remote-exec

Correct Answer: A
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